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EXERCISE 2: . l/
Suppose the frame S is moving with speed 1 m/s in the 4+ direction with respect to S. Draw a space-time [
diagram, with a horizontal z-axis and vertical ¢-axis. Include the axes of §', assuming that the origins of |
S and §' coincide. Now carefully draw the worldline of an object that starts at the origin, moves at 1 m/s |
with respeet to ' in the -+z direction for 1 s, then stops (with respect to S') for 1 s, and finally moves at 1

m/s with respect to S’ in the —z direction for 1's.




